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y = asinx
a = Amplitude (Vertical Stretch Factor)

If a<0 then there is an x-axis reflection.
Upside down
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Find the amplitude and period for each Sine Function: _ .

y = asinbx
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1. vy = Tsm5x 2. v= 4su@/7 3 X
a = Amplitude

Amplitude= ’7 Amplitude= L{ , ] , )
a<0 is an x-axis reflection (upside down)

Period= /}éﬂ; Period= /%’W_‘ o

/ bb: ———— Period = 2b—n

5



Sketch one period of the graph of Sketch one period of the graph of

y=3sin4x - -Ssin(i)
Label the coordinates of all x-intercepts, minimums, and maximums. ) 2 ] o )
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b= # of periods in 2n



